Perpendicular Lines

(negatve )

Perpendicular lines have slopes that are G@Q@.SI 1< reciprocals.
Opposite=different signs (positive or negat:ve)
Reaproca!s—fhp the fraction (To make an integer a fraction, put a number over 1 )

D@gﬁ + Perpendicular lines will JAMQCJFeach other at a 90 degree angle.

Example 1: e Voppese=, 3 pecproas?
— | (
y=-2x+1 — Slope= 2 _2' -

y=%x—3 — Slope=_7_

Since the slopes of both these lines are &7@051 A< FQCZWQ% , then these two lines

are perpendicular.

Example 2: ‘j_/{m I~ } ) }7

d. Given v =10x, write a linear equation that is perpendit{:uiar to the given line.

m= perpendtcular slope I m="T0O
Perpendicular line % t—j T

e. Giveny=——x —l 4, write a linear equation that is perpendicuigéto the given line.

o anny

m= Z.._ perpendicular slope 1 m= 2 V = Z_
Perpendicular line t/f"" 20 /<
f. Giveny=-3x+9,writea linear equation that is peiendlcular to the given line.

m= -5 perpendicular siope Lm=_7%
Perpendicular line = Lf"" '2 X

Example 3:

Math 2 sets of equations that are perpendicular to one another: (Hint: solve for y to see the slope.)

- : 1 . . Ny
LineA, y=2x+2 Line B. y=§x+1 LineC. 2y +x=-8 LineD. y+3x=4

/2@ "”"“‘»g = —3y+Y

\ L_:7'“'“—-27’\ LJ

Slope for A= 2 Slope for B= _ s Slope for C=__ Z . Slope for D= -.—3
3
Lines Q’and g/::re perpendicular because their slopes are 2 and L

A
Lines@ and I yare perpendicular because their slopes are > and _ 3 .
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Name: Period: Date:

Notes: Parallel & Perpendicular Lines

Parallei Lines %m >< ’t’

~ —
Paralle! lines have the SCU‘Q@ slope but d“ C%’feh/ y-intercepts.
Parallel lines will YA y€4/" _intersect with each other.

Examp!e 1:

y=2x+1 — Slope= Q

st

n

, then these two lines are parallel.

&2
y=2x-3 — Slope= Q‘ F(é)\!@ﬂg/g/
\\

Since both lines have a slope of

Example 2:

a. Given y =10x, write a linear equation that is parallel to the given line.

Parallel line & i(‘l (Dy 42

[

b. Giveny=35x—4, write a linear equation that is parallel to the given line.

Parallel line e (= 5><" 2.
W

¢. Giveny=-3x+9, write a linear equation that is parallel to the given line.
Parallel fline & E‘j{ = “3\6*’( -

Example 3:

: mqﬁ&h 2 sets of equations that are paratlel to one another: (Hint: solve for y to see the slope.}

1

LineA. y=—2x+2 LineB. y=—x—2 LineC. 4y +4=2x LineD. 4x+2y=-8

‘ - R T Vi VI
Hog= 2x-4 ATPREL L EX

4 ‘%% =y _gt_j_:___fl.:._j—a

U T 2K

| ’_L kl:)“:. Q—XI LA=
StopeforA: "Z Siope for B=_ & — Slope for C=___ > Slope for D="’¢L

Lines Q_’Eﬂd D are parallel because they both have a slope of ”—'Q .

Lines _@and

are parallel because they both have a slope of ' 2 .




